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4.8

Moscow Workshops

Problem F. Coprime Matrices

Input file: standard input
Output file: standard output
Time limit: 1 second

Memory limit: 1024 mebibytes

Given n, m, z,y,w, construct a matrix M satisfying following constraints:

1. the number of rows and columns of M are n, m respectively

2. for each integer i (1 < i < nm), ¢ appears exactly once in M

3. Mgy =w

4. for each entry M;; (1 <i <n,1 <j <m), either ged(M; ;, M;—1 ;) = 1 or ged(M; j, Miyq1,5) =1 or

both holds

5. for each entry M;; (1 <i<mn,1<j<m), either ged(

both holds

If multiple solution exist, print any one of them. If no solution, report it.

Input

ij» Mij—1) =1 or ged(M; j, M; j41) = 1 or

Input one line containing five integers n,m,z,y,w (1 <2z <n <300,1 <y <m < 300,1 <w < nm).

Output

If no solution, print “No”(without quotes) in one line.

If solution exists, print “Yes”(without quotes) in the first line. Then print n lines each containing m integers
M;1,M;2,- -, M;p, denoting the answer matrix.

Example

standard input

standard output

33213

Yes
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